MAl E@E5 EER(6A1H~30BEERS)

JAL/JTA/JAC/RAC

st R FAEEIS| INRAR R RMEIS| SIRENERIRBEIE]
X #ad | BHBO A= BEE BEH BE
e 6/1-30 2 fgE | e/1-30 | BEA L gese | g/1-30  BEA fese
RE® | RKEQ [ XREG EEIES EEIES EEIES
RRCPA) =24 [EECHA)H| I+ (GBH) JAL/JTA[JTA/RAC 55,500 5% 27,750 52% 35,500 39%
EH% [HEGH) JTA/RAC[JAL/JTA 55,500 5% 27,750 52% 35,500 39%
RRECHA) =R\ [EFECRR) |+ (HBH) JAL/JTA| JTA 59,300 7% 29,650 54% 37,950 41%
AEHE [HEGER) JTA [JAL/JTA 59,300 7% 29,650 54% 37,950 41%
KB (7} =% @31 | KRk () [ R= CRA) JAL JAL 43,500 32% 21,750 66% 27,850 56%
HLIE (i T %) JAL JAL 43,500 31% 21,750 65% 27,850 56%
i FE | RECHEH) JAL JAL 43,500 32% 21,750 66% 27,850 56%
LR (T %) JAL JAL 43,500 31% 21,750 65% 27,850 56%
KB (B8TE) =% 3 | Kbk (B3#E) 5| = CRIEA) JAL JAL 43,500 32% 21,750 66% 27,850 56%
LR (i T %) JAL JAL 43,500 31% 21,750 65% 27,850 56%
i FE | RECHEH) JAL JAL 43,500 32% 21,750 66% 27,850 56%
HLIE (i T %) JAL JAL 43,500 31% 21,750 65% 27,850 56%
KR (FFH =8I [ KBr (R FH % | 3R CHEA) JAL JAL 40,900 34% 20,450 67% 26,200 58%
B  [HECHE) JAL JAL 40,900 34% 20,450 67% 26,200 58%
Khx (BE7E) =#BJIl | KBx (BE7E) % | 3R CHHE) JAL JAL 40,900 34% 20,450 67% 26,200 58%
BN  [HECHE) JAL JAL 40,900 34% 20,450 67% 26,200 58%
KR (FFH) =8B [ KBx (R F) %[ 3R CHEH) JAL JAL 41,400 33% 20,700 66% 26,500 57%
fipER  [HECHH) JAL JAL 41,400 33% 20,700 66% 26,500 57%
KR (BFH) =5 [ KB (R F) %[ 3R CHEH) JAL JAL 40,900 33% 20,450 66% 26,200 57%
HEE [ERE(CHHE) JAL JAL 40,900 33% 20,450 66% 26,200 57%
KR (FFH) =&E | KBR (R F) %[ 3R CHEH) JAL JAL 41,300 23% 20,650 62% 26,450 51%
BHEER [HECHHE) JAL JAL 41,300 23% 20,650 62% 26,450 51%
KR (FH ==iR [ KB (R F}) %[ 3R CHEH) JAL JAL 37,800 27% 18,900 64% 24,200 53%
=] R CHH) JAL JAL 37,800 27% 18,900 64% 24,200 53%
KR (BE7E) ==:R | KB (R87E) %[ 3R CHH) JAL JAL 37,800 27% 18,900 64% 24,200 53%
ZR% [HFECHH) JAL JAL 37,800 27% 18,900 64% 24,200 53%
KB (FFH) =Rk [ KXBREFFDH| HE JAC JAC 20,500 35% 10,250 67% 13,100 58%
[ HE JAC JAC 20,500 35% 10,250 67% 13,100 58%
KR (R =BFEXRFMH| ERS JAC JAC 32,600 17% 16,300 59% 20,850 47%
BYEH BRE JAC JAC 32,600 17% 16,300 59% 20,850 47%
KR (BFH == [ KB (RFH) F[ 048 (BIE;R) JAL _[JTA/RAC 43,000 17% 21,500 58% 27,500 47%
EOX G5 JTA/RAC| JAL 43,000 17% 21,500 58% 27,500 47%
KR (BEE) == [ KB (BE7E) F| P48 (BBIR) JAL/JTA|JTA/RAC 43,000 17% 21,500 58% 27,500 47%
EHX [EGH) JTA/RAC[JAL/JTA 43,000 17% 21,500 58% 27,500 47%
KR (FH =18 [ KB (RFH) F| 04 (BEH) JAL JTA 48,400 15% 24,200 58% 31,000 46%
AEHE [HEGER JTA JAL 48,400 15% 24,200 58% 31,000 46%
KR (BEE) =FR1E | KBx (REFE) %[ P48 (BBIR) JAL/JTA| JTA 48,400 15% 24,200 58% 31,000 46%
AEH [HEER JTA [JAL/JTA 48,400 15% 24,200 58% 31,000 46%
ZEE (FE) =% 5| & EE (P &) F[4LIE T i) JAL JAL 39,800 32% 19,900 66% 25,450 57%
ZEmAFE R EFTR JAL JAL 39,800 32% 19,900 66% 25,450 57%
AHE(FH) ==& |£5E (h ) 4 G5 JTA [JTA/RAC 44,000 22% 22,000 61% 28,150 50%
EH% MBS JTA/RAC| JTA 44,000 22% 22,000 61% 28,150 50%
2EE (P =HiE[ LR hE) %[ ;548 GREH) JTA JTA 45,200 27% 22,600 63% 28,950 53%
AiEH  [HEGER JTA JTA 45,200 27% 22,600 63% 28,950 53%
FLIR G F %) =/Ma[ALIR i Fad) [ HE CHE) JAL JAL 33,500 40% 16,750 70% 21,450 61%
MR [FECHE) JAL JAL 33,500 40% 16,750 70% 21,450 61%
FLOR G T %) = Rel L1 [4L8% (T ) 3| R CHH) JAL JAL 35,000 45% 17,500 72% 22,400 65%
FELFE  [HECRA) JAL JAL 35,000 45% 17,500 72% 22,400 65%
IR ET%) =L B [4LIR F T 2| HR CHH) JAL JAL 36,000 44% 18,000 72% 23,050 64%
LEB% [FECHH) JAL JAL 36,000 44% 18,000 72% 23,050 64%
IR (B F %) = IO 8| #LIR (BT %) % R CRH) JAL JAL 42,000 38% 21,000 69% 26,900 60%
WOFEFE [HECHEH) JAL JAL 42,000 38% 21,000 69% 26,900 60%
AR BT %) =HE 4R EF T %[ HE CHH) JAL JAL 37,400 42% 18,700 71% 23,950 63%
= R (CHH) JAL JAL 37,400 42% 18,700 71% 23,950 63%
IR BT %) =B AR T %[ HE CHH) JAL JAL 39,000 38% 19,500 69% 24,950 60%
mEH [FECHH) JAL JAL 39,000 38% 19,500 69% 24,950 60%
IR BT %) == [ALIR # ) 2| =R CHE) JAL JAL 39,900 37% 19,950 68% 25,550 59%
=% [FECHH) JAL JAL 39,900 37% 19,950 68% 25,550 59%
IR (BT ) ==& ARG &) % =R CRA) JAL JAL 41,400 36% 20,700 68% 26,500 59%
=A% [FECHH) JAL JAL 41,400 36% 20,700 68% 26,500 59%
FLIR (BT %) =AU [ALIR G F#) | R CREA) JAL JAL 43,700 33% 21,850 67% 27,950 57%
WL [HERCHEH) JAL JAL 43,700 33% 21,850 67% 27,950 57%
ALIR BT 5%) =LA [ ALIR B T #%) 5| SR CRIE) JAL JAL 42,000 40% 21,000 70% 26,900 62%
LAMFE |RFECHEH) JAL JAL 42,000 40% 21,000 70% 26,900 62%
IR BT %) = K5 LR @ T % HR CHH) JAL JAL 42,000 39% 21,000 70% 26,900 61%
> FR CHHE) JAL JAL 42,000 39% 21,000 70% 26,900 61%
IR BT %) =R 4R T 2| RR CHH) JAL JAL 44,000 39% 22,000 70% 28,150 61%
RB% [HECHH) JAL JAL 44,000 39% 22,000 70% 28,150 61%
IR GBI T %) = RE AR [4LIR (T 2| RR CHH) JAL JAL 43,000 39% 21,500 69% 27,500 61%
A% [HFECHH) JAL JAL 43,000 39% 21,500 69% 27,500 61%
IR BT %) = =6 [4LIR (T 2| R CHH) JAL JAL 44,000 37% 22,000 69% 28,150 60%
ER%E [RRCRA) JAL JAL 44,000 37% 22,000 69% 28,150 60%
AR FFR) =ERS[ ARG TR | RRCRA) JAL JAL 49,000 32% 24,500 66% 31,350 57%
BERE% |RFE(HH) JAL JAL 49,000 32% 24,500 66% 31,350 57%
IR (B FR) =BEXS AL FT%) % /R CRH) JAL JAL 50,000 37% 25,000 69% 32,000 60%
EEAEH [RR(HH) JAL JAL 50,000 37% 25,000 69% 32,000 60%
AL BT 2% =48 GBI | ALIR (BT F %) %[ R R (PIE) JAL _[JAL/JTA 51,200 31% 25,600 66% 32,750 56%
KB (BFE) JAL [JAL/JTA 51,200 32% 25,600 66% 32,750 57%
£EHE (PEH) JAL JTA 51,200 33% 25,600 66% 32,750 57%
128 JAL JTA 51,200 35% 25,600 67% 32,750 58%
PHE (B! F|RE (BH) JAL/JTA] JAL 51,200 31% 25,600 66% 32,750 56%
KB (B FE) JAL/JTA| JAL 51,200 32% 25,600 66% 32,750 57%
128 JTA JAL 51,200 35% 25,600 67% 32,750 58%
12 =% 3l w\EE [EECHH) JAL JAL 52,100 33% 26,050 67% 33,350 57%
HLIE (i T %) JAL JAL 52,100 28% 26,050 64% 33,350 54%
i FE | RECHEH) JAL JAL 52,100 33% 26,050 67% 33,350 57%
HLIE (i T %) JAL JAL 52,100 28% 26,050 64% 33,350 54%
2=l BE% [FECHH) JAL JAL 52,100 32% 26,050 66% 33,350 56%
B  [HECHH) JAL JAL 52,100 32% 26,050 66% 33,350 56%
1= =2 BE% [FECHH) JAL JAL 52,100 31% 26,050 66% 33,350 56%
SipEs  [HECHHE) JAL JAL 52,100 31% 26,050 66% 33,350 56%
'l =%k BE% [FECHH) JAL JAL 52,100 31% 26,050 65% 33,350 56%
HER  [FECHHE) JAL JAL 52,100 31% 26,050 65% 33,350 56%
12 =BKeE BE% [FECHH) JAL JAL 51,100 25% 25,550 62% 32,700 52%
HEER [HECHH) JAL JAL 51,100 25% 25,550 62% 32,700 52%




MERIsEHERS EEXR(6A1B~308EES) JAL/JTA/JAG/RAC

et LelES ] INRARRIRMEIS| SIREMNLERRIRBEIE]
P BEBD | EhbE e EEH EEH EER
e 6/1-30 2 @mE | en-30 | BEXY | fmE 6130 BEM ) gux
REO® | KEQ | XREG EEIES EEES EEES
ER=F% BER [FECHH) JAL JAL 43,900 34% 21,950 67% 28,100 58%
AR (EFH JAL JAL 43,900 25% 21,950 63% 28,100 52%
B S ESACED) JAL JAL 43,900 34% 21,950 67% 28,100 58%
KR (EFH JAL JAL 43,900 25% 21,950 63% 28,100 52%
B ==iR BE% [FECHH) JAL JAL 43,400 34% 21,700 67% 27,800 58%
ZR% [HECHH) JAL JAL 43,400 34% 21,700 67% 27,800 58%
EE=1t5 [ e I PN A=) JAL JAL 42,400 26% 21,200 63% 27,150 52%
&R [ KRURFD JAL JAL 42,400 26% 21,200 63% 27,150 52%
BE=8[A RBER [FEECHH) JAL JAL 42,300 31% 21,150 65% 27,050 56%
KR (EFH JAL JAL 42,300 23% 21,150 61% 27,050 51%
AR [HECHH) JAL JAL 42,300 31% 21,150 65% 27,050 56%
KR (EFH JAL JAL 42,300 23% 21,150 61% 27,050 51%
2 =L RBER [FEECHH) JAL JAL 39,000 29% 19,500 64% 24,950 55%
KR (EFH JAL JAL 39,000 28% 19,500 64% 24,950 54%
W% [RRECRA) JAL JAL 39,000 29% 19,500 64% 24,950 55%
KR (FEFH JAL JAL 39,000 28% 19,500 64% 24,950 54%
=R =" BE% | XBR(URD JAL JAL 37,000 27% 18,500 64% 23,700 53%
FR% [ KBRURFD JAL JAL 37,000 27% 18,500 64% 23,700 53%
2=/ B|EE [HER(CHH) JAL JAL 36,800 37% 18,400 69% 23,550 60%
IR E S A€ET:)) JAL JAL 36,800 37% 18,400 69% 23,550 60%
wER==4 [ e I b A € ) JTA [JTA/RAC 38,000 16% 19,000 58% 24,300 46%
Bk A L 165 JTA/RAC|  JTA 38,000 16% 19,000 58% 24,300 46%
BE=FH1E BEF [ RE) JTA JTA 38,700 23% 19,350 62% 24,750 51%
AEH [HEER JTA JTA 38,700 23% 19,350 62% 24,750 51%
Es A ZHAFE IR EFHTR) JAL JAL 30,500 39% 15,250 69% 19,500 61%
e  |+REFHFH) JAL JAL 30,500 39% 15,250 69% 19,500 61%
A =M Zimp % | RECHEH) JAL JAL 41,200 35% 20,600 67% 26,350 58%
IR E S-I€EL:)) JAL JAL 41,200 35% 20,600 67% 26,350 58%
25 Al = RE Ll Zimp % | RECHEH) JAL JAL 45,000 37% 22,500 68% 28,800 60%
EIE ESACET:)) JAL JAL 45,000 37% 22,500 68% 28,800 60%
LimAl=HE ZimpFE | RECHEH) JAL JAL 43,500 40% 21,750 70% 27,850 62%
=X |[ERCRHA) JAL JAL 43,500 40% 21,750 70% 27,850 62%
i Al =l i A R (CHH) JAL JAL 49,500 32% 24,750 66% 31,700 57%
WL [HERCHEH) JAL JAL 49,500 32% 24,750 66% 31,700 57%
T =/ MBI [HECHH) JAL JAL 39,600 36% 19,800 68% 25,350 59%
IR E S-1CEL:)) JAL JAL 39,600 36% 19,800 68% 25,350 59%
TBI=ML MBI [HECHH) JAL JAL 45,000 35% 22,500 68% 28,800 59%
FEWLFE  [HECRA) JAL JAL 45,000 35% 22,500 68% 28,800 59%
BINI=HE MBI  [FHECHH) JAL JAL 42,500 40% 21,250 70% 27,200 62%
EX |[ERCRHA) JAL JAL 42,500 40% 21,250 70% 27,200 62%
JENI=#211 MBI  [HECHH) JAL JAL 49,500 31% 24,750 65% 31,700 56%
WL [HERCHEH) JAL JAL 49,500 31% 24,750 65% 31,700 56%
SRR =/ fipEs  [HECHH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
IMAFE R CHH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
IR =Rl LI SipEse  [HECHHE) JAL JAL 45,000 35% 22,500 67% 28,800 58%
FELFE [HECRA) JAL JAL 45,000 35% 22,500 67% 28,800 58%
SR =HE fipEs  [HECHH) JAL JAL 43,500 38% 21,750 69% 27,850 60%
EXx |[ERCRA) JAL JAL 43,500 38% 21,750 69% 27,850 60%
gipg =421 HiEHE [HECHH) JAL JAL 49,500 30% 24,750 65% 31,700 55%
Wl [FECHHE) JAL JAL 49,500 30% 24,750 65% 31,700 55%
HIL=/M2 HHFE [RERCHEH) JAL JAL 39,600 34% 19,800 67% 25,350 58%
MM [HECHH) JAL JAL 39,600 34% 19,800 67% 25,350 58%
HIE=RL HLEF  [FECHE) JAL JAL 45,000 34% 22,500 67% 28,800 58%
EIE ESACET:)) JAL JAL 45,000 34% 22,500 67% 28,800 58%
HL=HE HEE [ERER(CHHE) JAL JAL 42,500 39% 21,250 70% 27,200 61%
HEH [RRCRA) JAL JAL 42,500 39% 21,250 70% 27,200 61%
HIL=10 HHFE [HERCHEH) JAL JAL 49,500 30% 24,750 65% 31,700 55%
WL [HERCHEH) JAL JAL 49,500 30% 24,750 65% 31,700 55%
B =/ R BHEER [FECHH) JAL JAL 34,100 36% 17,050 68% 21,800 59%
MNRF [ CHE) JAL JAL 34,100 36% 17,050 68% 21,800 59%
R =Ll BHEER [HECHHE) JAL JAL 44,000 28% 22,000 64% 28,150 54%
EE ESACET:)) JAL JAL 44,000 28% 22,000 64% 28,150 54%
HEE=HE BHAER [FECHH) JAL JAL 42,500 32% 21,250 66% 27,200 57%
EX |[ERCRHA) JAL JAL 42,500 32% 21,250 66% 27,200 57%
BEE=H1L BHEER [HECHHE) JAL JAL 48,400 24% 24,200 62% 31,000 51%
WL [FECHHE) JAL JAL 48,400 24% 24,200 62% 31,000 51%
BEEE=dL M BHEER [FECHHE) JAL JAL 51,100 25% 25,550 62% 32,700 52%
A R (CHH) JAL JAL 51,100 25% 25,550 62% 32,700 52%
HEE=X% BHEER  [HECHHE) JAL JAL 40,500 40% 20,250 70% 25,900 61%
A% [FECHH) JAL JAL 40,500 40% 20,250 70% 25,900 61%
HEE=RIE BHEER  [HECHHE) JAL JAL 42,000 40% 21,000 70% 26,900 62%
RB%  [FECHH) JAL JAL 42,000 40% 21,000 70% 26,900 62%
BEE=FEA BEER [FECHHE) JAL JAL 42,000 38% 21,000 69% 26,900 60%
A% [HECHH) JAL JAL 42,000 38% 21,000 69% 26,900 60%
HE=25 BEER [HECHHE) JAL JAL 42,000 38% 21,000 69% 26,900 60%
EIR%E [RRCRA) JAL JAL 42,000 38% 21,000 69% 26,900 60%
HE=ERS BHEER [HECHHE) JAL JAL 43,000 39% 21,500 69% 27,500 61%
EREH [HECHH) JAL JAL 43,000 39% 21,500 69% 27,500 61%
HE=FEAS | EEAER [RR(CHA) JAL JAL 49,000 37% 24,500 68% 31,350 60%
BH=/M EH%E  [ER(EH) JAL JAL 32,000 38% 16,000 69% 20,500 61%
AR [FECHE) JAL JAL 32,000 38% 16,000 69% 20,500 61%
EH=RLL BEHA%  [HAECHH) JAL JAL 36,000 40% 18,000 70% 23,050 62%
L% [RECRA) JAL JAL 36,000 40% 18,000 70% 23,050 62%
EH=LE EHA%  [HECHHE) JAL JAL 37,000 39% 18,500 70% 23,700 61%
LEB% [FECHH) JAL JAL 37,000 39% 18,500 70% 23,700 61%
FEH=ILOFE EH%E [ER(EH) JAL JAL 39,000 40% 19,500 70% 24,950 61%
WOFERF [HECHE) JAL JAL 39,000 40% 19,500 70% 24,950 61%
EH=HE B =R CRE) JAL JAL 36,800 40% 18,400 70% 23,550 62%
KR (EFH JAL JAC 36,800 34% 18,400 67% 23,550 58%
HEH [ERRCRA) JAL JAL 36,800 40% 18,400 70% 23,550 62%
KR (EFH JAC JAL 36,800 34% 18,400 67% 23,550 58%
EH=HE5 EHA%  [FECHH) JAL JAL 34,000 43% 17,000 71% 21,750 64%
EE%E [HER(CHHE) JAL JAL 34,000 43% 17,000 71% 21,750 64%
EH=mi EH%E  [ER(EH) JAL JAL 36,000 40% 18,000 70% 23,050 61%
aR%  [EEREH JAL JAL 36,000 40% 18,000 70% 23,050 61%




MERIsEHERS EEXR(6A1B~308EES) JAL/JTA/JAG/RAC

st R FAEEIS| INRARRIRMEIS| SIREMNLERRIRBEIE]
XFH #ad | BHBO A= BEE BEH BE
e 6/1-30 2 fmE | 6/1-30 | BEA L gese | g/1-30 | BEA fese
REO® | KEQ | XREG EEIES EEIES EEES
=24 BEHA%  [FECHHE) JAL JAL 37,000 40% 18,500 70% 23,700 61%
=A% [FECHH) JAL JAL 37,000 40% 18,500 70% 23,700 61%
BEH=L EH%E  [ER(HEH) JAL JAL 37,000 40% 18,500 70% 23,700 62%
Wl  [FECHH) JAL JAL 37,000 40% 18,500 70% 23,700 62%
BFEHER=JdAM EH%E  [ER(EH) JAL JAL 43,900 34% 21,950 67% 28,100 58%
EAME |RFECHH) JAL JAL 43,900 34% 21,950 67% 28,100 58%
EH=K» B L ESACED) JAL JAL 39,000 41% 19,500 70% 24,950 62%
KR (EFH JAL JAL 39,000 30% 19,500 65% 24,950 55%
A% [FECHH) JAL JAL 39,000 41% 19,500 70% 24,950 62%
EH=R% B ESACED) JAL JAL 42,000 39% 21,000 70% 26,900 61%
KR (EFH JAL JAL 42,000 33% 21,000 66% 26,900 57%
RB% [HECHH) JAL JAL 42,000 39% 21,000 70% 26,900 61%
EH=EX B ESACED) JAL JAL 40,500 39% 20,250 70% 25,900 61%
KR (EFH JAL JAL 40,500 33% 20,250 66% 25,900 57%
AR [HECHH) JAL JAL 40,500 39% 20,250 70% 25.900 61%
KR (EFH JAL JAL 40,500 33% 20,250 66% 25,900 57%
EH=24 B T ESACED) JAL JAL 40,500 39% 20,250 70% 25,900 61%
KR (EFH JAL JAL 40,500 33% 20,250 66% 25,900 57%
BEFE [RRECRA) JAL JAL 40,500 39% 20,250 70% 25,900 61%
AR (EFH JAL JAL 40,500 33% 20,250 66% 25,900 57%
EH=ERS B ESACED) JAL JAL 42,000 39% 21,000 70% 26,900 61%
KR (EFH JAL JAC 42,000 34% 21,000 67% 26,900 58%
BREX |[RE(HH) JAL JAL 42,000 39% 21,000 70% 26,900 61%
KR (EFH JAC JAL 42,000 34% 21,000 67% 26,900 58%
EH=BEXS EHE [ER(BH) JAL JAL 46,400 39% 23,200 70% 29,700 61%
BEXER [RE(HH) JAL JAL 46,400 39% 23,200 70% 29,700 61%
KR (FH JAL JAL 46,400 36% 23,200 68% 29,700 59%
ZIR=/ ZR%  [HECHH) JAL JAL 32,000 38% 16,000 69% 20,500 60%
MRFE [FECHE) JAL JAL 32,000 38% 16,000 69% 20,500 60%
=iR=EW ZiR% [HECHH) JAL JAL 36,000 40% 18,000 70% 23,050 61%
EE ESACET:)) JAL JAL 36,000 40% 18,000 70% 23,050 61%
ZR=IE% ZiR%  [HECHH) JAL JAL 37,000 39% 18,500 69% 23,700 61%
LEB% [FFECHH) JAL JAL 37,000 39% 18,500 69% 23,700 61%
ZR=WOFE ZiR%  [HECHH) JAL JAL 39,000 39% 19,500 70% 24,950 61%
% |HECRHA) JAL JAL 39,000 39% 19,500 70% 24,950 61%
ZIR=HZE £ |RECHH) JAL JAL 37,900 38% 18,950 69% 24,250 60%
£ [EHEFECRMA) JAL JAL 37,900 38% 18,950 69% 24,250 60%
ZR=#5 £ [RRCHA) JAL JAL 34,000 42% 17,000 71% 21,750 63%
£ |RECHH) JAL JAL 34,000 42% 17,000 71% 21,750 63%
ZiR=@i £ [EHEFECRMA) JAL JAL 36,000 39% 18,000 69% 23,050 61%
£ |RECHH) JAL JAL 36,000 39% 18,000 69% 23,050 61%
ZiR=14H £ |RECHH) JAL JAL 36,000 41% 18,000 70% 23,050 62%
£ |RECHH) JAL JAL 36,000 41% 18,000 70% 23,050 62%
ZiR=#1 £ |RECHH) JAL JAL 37,000 40% 18,500 70% 23,700 61%
£ |RECHH) JAL JAL 37,000 40% 18,500 70% 23,700 61%
ZiR=dchm £ [EHFECRMA) JAL JAL 43,400 34% 21,700 67% 27,800 58%
FR CHHE) JAL JAL 43,400 34% 21,700 67% 27,800 58%
ZIR=X% £ |RECHH) JAL JAL 39,000 40% 19,500 70% 24,950 62%
£ |RECHH) JAL JAL 39,000 40% 19,500 70% 24,950 62%
ZiR=R& £ |RECHH) JAL JAL 42,000 39% 21,000 69% 26,900 61%
£ |RECHH) JAL JAL 42,000 39% 21,000 69% 26,900 61%
ZIR=RER £ |RECHEH) JAL JAL 40,500 39% 20,250 69% 25,900 61%
£ [EHEFECRA) JAL JAL 40,500 39% 20,250 69% 25,900 61%
ZiR=8& £ |RECHH) JAL JAL 40,500 39% 20,250 69% 25,900 61%
£ [EHEFECRMA) JAL JAL 40,500 39% 20,250 69% 25,900 61%
ZR=ERS £ |RECHH) JAL JAL 42,000 39% 21,000 69% 26,900 61%
% [HECHH) JAL JAL 42,000 39% 21,000 69% 26,900 61%
SR=FEXE | EEXEH [AR(CHHA) JAL JAL 46,400 39% 23,200 69% 29,700 61%
FE=/ PEE [FRERCEH) JAL JAL 30,900 34% 15,450 67% 19,800 57%
IR E S-A€EL:)) JAL JAL 30,900 34% 15,450 67% 19,800 57%
FE =L PEEX [FRERCHEH) JAL JAL 32,000 41% 16,000 71% 20,500 63%
FELFE  [HECRA) JAL JAL 32,000 41% 16,000 71% 20,500 63%
MHE=L5 PEEX [HRERCEH) JAL JAL 34,000 39% 17,000 69% 21,750 61%
LEB% [FECHH) JAL JAL 34,000 39% 17,000 69% 21,750 61%
#EA=LAFE PEEX [FRERCEH) JAL JAL 37,000 38% 18,500 69% 23,700 60%
WOFEFE [HECHE) JAL JAL 37,000 38% 18,500 69% 23,700 60%
MHE=HE AR [HECHH) JAL JAL 33,100 41% 16,550 70% 20,500 63%
AR (EFH JAL JAC 33,100 37% 16,550 68% 20,500 61%
EX [ERCRA) JAL JAL 33,100 41% 16,550 70% 20,500 63%
KR (EFH JAC JAL 33,100 37% 16,550 68% 20,500 61%
MHE=ES ThEF [EECHH) JAL JAL 32,000 41% 16,000 70% 20,500 62%
mE%E [HER(CHHE) JAL JAL 32,000 41% 16,000 70% 20,500 62%
MHA=E1 BEEX [FRRERCEH) JAL JAL 34,000 37% 17,000 69% 21,750 60%
2% [HRER(CHEH) JAL JAL 34,000 37% 17,000 69% 21,750 60%
MEA=2% BEE [FRRERCEH) JAL JAL 34,000 39% 17,000 70% 21,750 61%
2% [HERCHEH) JAL JAL 34,000 39% 17,000 70% 21,750 61%
FE=L PEZEX [FRERCEH JAL JAL 36,000 36% 18,000 68% 23,050 59%
WL [FECHHE) JAL JAL 36,000 36% 18,000 68% 23,050 59%
FE=dt M PEE [ERER(CEH) JAL JAL 42,300 31% 21,150 65% 27,050 56%
LAME |RZECHH) JAL JAL 42,300 31% 21,150 65% 27,050 56%
ME=X% MEFEX [REREH JAL JAL 37,000 39% 18,500 69% 23,700 61%
KR (EFH JAL JAL 37,000 29% 18,500 65% 23,700 55%
A% [FECHH) JAL JAL 37,000 39% 18,500 69% 23,700 61%
MEH=RI& AR [HECHH) JAL JAL 39,000 39% 19,500 69% 24,950 61%
KR (EFH JAL JAL 39,000 34% 19,500 67% 24,950 57%
RB% [HAECHH) JAL JAL 39,000 39% 19,500 69% 24,950 61%
FHE=REAX AR [FHECHH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
AR (EFH JAL JAL 39,000 31% 19,500 65% 24,950 56%
A% [HAECHH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
KR (EFH JAL JAL 39,000 31% 19,500 65% 24,950 56%
MEH==I& AR [HECHH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
KR (EFH JAL JAL 39,000 31% 19,500 65% 24,950 56%
BEFE [RRECRA) JAL JAL 39,000 36% 19,500 68% 24,950 59%
KR (EFH JAL JAL 39,000 31% 19,500 65% 24,950 56%




MERIsEHERS EEXR(6A1B~308EES) JAL/JTA/JAG/RAC

st R FAEEIS| INREBIEHREIS] SAREMNVERFRIRMEES]
BXFE #ad | BHBO A= BEH BEE BEE

RE0 [ EEe [ KEG 6/1-30 22| % &% | 6/1-30 22| % &% | 6/1-30 22| % w5
ME=FERS HEE [ERCEH) JAL JAL 40,500 36% 20,250 68% 25,900 59%
KR (EFH JAL JAC 40,500 32% 20,250 66% 25,900 57%
EREH [HECHH) JAL JAL 40,500 36% 20,250 68% 25,900 59%
KR (EFH JAC JAL 40,500 32% 20,250 66% 25,900 57%
MEA=EXXE AR [FECHH) JAL JAL 46,400 34% 23,200 67% 29,700 58%
EBEXER [RE(HH) JAL JAL 46,400 34% 23,200 67% 29,700 58%
KR (EFH JAL JAL 46,400 33% 23,200 66% 29,700 57%
Wiz =/k Wiz %  |[RECRA) JAL JAL 29,600 26% 14,800 63% 18,950 53%
MAE  [EFE(CHHE) JAL JAL 29,600 26% 14,800 63% 18,950 53%
IRz =Rl W% [RECRA) JAL JAL 32,000 34% 16,000 67% 20,500 58%
EE ES-ACET:)) JAL JAL 32,000 34% 16,000 67% 20,500 58%
W =55 W% |[RECRA) JAL JAL 33,000 33% 16,500 66% 21,100 57%
LEB% [FECHH) JAL JAL 33,000 33% 16,500 66% 21,100 57%
Wiz =110 54 W% |[RECRA) JAL JAL 37,000 30% 18,500 65% 23,700 55%
WOFERFE [ R CHE) JAL JAL 37,000 30% 18,500 65% 23,700 55%
WR=H=E W% [RRECRA) JAL JAL 33,000 33% 16,500 67% 21,100 57%
KR (EFH JAL JAC 33,000 35% 16,500 68% 21,100 59%
EX |[ERCRA) JAL JAL 33,000 33% 16,500 67% 21,100 57%
AR (EFH JAC JAL 33,000 35% 16,500 68% 21,100 59%
=% W% |[RECRA) JAL JAL 32,000 33% 16,000 66% 20,500 57%
mEH [FECHH) JAL JAL 32,000 33% 16,000 66% 20,500 57%
iR =mn W% [EFECRA) JAL JAL 32,000 33% 16,000 66% 20,500 57%
2% [HRERCHEH) JAL JAL 32,000 33% 16,000 66% 20,500 57%
iR =m=% W% |[RECRA) JAL JAL 33,000 33% 16,500 67% 21,100 57%
=A% [FECHH) JAL JAL 33,000 33% 16,500 67% 21,100 57%
Wiz =#xl W% |[RECRA) JAL JAL 33,000 34% 16,500 67% 21,100 58%
WL [FECHHE) JAL JAL 33,000 34% 16,500 67% 21,100 58%
iRz =L A EAME |RFECHH) JAL JAL 39,000 29% 19,500 64% 24,950 55%
wk=X% W% [RRECRA) JAL JAL 38,000 29% 19,000 65% 24,300 55%
AR (EFH JAL JAL 38,000 26% 19,000 63% 24,300 53%
A% [FECHH) JAL JAL 38,000 29% 19,000 65% 24,300 55%
W =Ki& W% [RRECRA) JAL JAL 41,000 28% 20,500 64% 26,250 54%
AR (EFH JAL JAL 41,000 29% 20,500 64% 26,250 54%
RE% [HECHH) JAL JAL 41,000 28% 20,500 64% 26,250 54%
KR (EFH JAL JAL 41,000 29% 20,500 64% 26,250 54%
=X W% [RRECRA) JAL JAL 39,000 29% 19,500 64% 24,950 55%
KR (EFH JAL JAL 39,000 30% 19,500 65% 24,950 55%
A% [HECHH) JAL JAL 39,000 29% 19,500 64% 24,950 55%
KR (EFH JAL JAL 39,000 30% 19,500 65% 24,950 55%
W =gEi& W% [RRECRA) JAL JAL 39,000 29% 19,500 64% 24,950 55%
AR (EFH JAL JAL 39,000 30% 19,500 65% 24,950 55%
R ESACET:)) JAL JAL 39,000 29% 19,500 64% 24,950 55%
KR (EFH JAL JAL 39,000 30% 19,500 65% 24,950 55%
W =ERSE W% [RRECRA) JAL JAL 41,000 28% 20,500 64% 26,250 54%
KR (EFH JAL JAC 41,000 30% 20,500 65% 26,250 55%
EREH [HECHH) JAL JAL 41,000 28% 20,500 64% 26,250 54%
KRR (FEFH JAC JAL 41,000 30% 20,500 65% 26,250 55%
e =HE wEFE [ XREREEFD JAL JAC 32,000 36% 16,000 68% 20,500 59%
HEHX [ KREEF JAC JAL 32,000 36% 16,000 68% 20,500 59%
e =X &R [ XREREEFD JAL JAL 36,000 28% 18,000 64% 23,050 54%
KoFE | KREEFD JAL JAL 36,000 28% 18,000 64% 23,050 54%
s =RiE &R [ XREREEFD JAL JAL 39,000 31% 19,500 65% 24,950 56%
RIBFE [ KREEFD JAL JAL 39,000 31% 19,500 65% 24,950 56%
s =HReAR &R [ XREREEFD JAL JAL 37,000 32% 18,500 66% 23,700 56%
REAFE [ KR(EFD JAL JAL 37,000 32% 18,500 66% 23,700 56%
& ==& &R [ KEREEFD JAL JAL 39,000 28% 19,500 64% 24,950 54%
=B [ KKR(EF JAL JAL 39,000 28% 19,500 64% 24,950 54%
me=ERrRS &R [ XREREEFD JAL JAC 39,000 32% 19,500 66% 24,950 57%
BREXE |XKRGEFD JAC JAL 39,000 32% 19,500 66% 24,950 57%
[MEEESESN-] &R [ KEREEFD JAL JAL 44,200 34% 22,100 67% 28,300 58%
BEAESH |KREFD JAL JAL 44,200 34% 22,100 67% 28,300 58%
FR=HE B¥ | XKRGEPD JAL JAC 29,000 40% 14,500 70% 18,550 62%
HEHX [ KREEF JAC JAL 29,000 40% 14,500 70% 18,550 62%
FR=K £ |RBR(FFD JAL JAL 34,000 30% 17,000 65% 21,750 55%
£ [ KBR(FD JAL JAL 34,000 30% 17,000 65% 21,750 55%
FR=RIE £ |XBR(FFD JAL JAL 37,000 32% 18,500 66% 23,700 57%
£ [ KBR(FD JAL JAL 37,000 32% 18,500 66% 23,700 57%
FR=EEX £ | XBR(FFD JAL JAL 36,000 31% 18,000 66% 23,050 56%
£ [ KBR(FD JAL JAL 36,000 31% 18,000 66% 23,050 56%
FR=E4 £ |RBR(FFD JAL JAL 36,000 31% 18,000 66% 23,050 56%
EiEFE [ XR(EF JAL JAL 36,000 31% 18,000 66% 23,050 56%
FR=ERS FE% [ KERUFRFD JAL JAC 37,000 34% 18,500 67% 23,700 58%
BERE KR (EFH JAC JAL 37,000 34% 18,500 67% 23,700 58%
M= M [FHECHH) JAL JAL 30,200 42% 15,100 71% 19,350 63%
FELFE [HECRA) JAL JAL 30,200 42% 15,100 71% 19,350 63%
IMA=TRE MM [FHRECHH) JAL JAL 30,900 41% 15,450 71% 19,800 62%
LEB% [FECHH) JAL JAL 30,900 41% 15,450 71% 19,800 62%
MY =LA FE IR E S-A€EL:)) JAL JAL 34,700 39% 17,350 69% 22,200 61%
WOFEF [HECHE) JAL JAL 34,700 39% 17,350 69% 22,200 61%
IMNR=HE IR E S-A€EL:)) JAL JAL 31,500 41% 15,750 70% 20,150 62%
HEH [RRCRA) JAL JAL 31,500 41% 15,750 70% 20,150 62%
INR=TES MR [FECHE) JAL JAL 29,500 43% 14,750 71% 18,900 63%
EEH [FECHH) JAL JAL 29,500 43% 14,750 71% 18,900 63%
INR=FH IR E S-ACEL:)) JAL JAL 29,600 42% 14,800 71% 18,950 63%
2% [HRERCHEH) JAL JAL 29,600 42% 14,800 71% 18,950 63%
INR=TE4 IR E S-1CEL:)) JAL JAL 31,500 41% 15,750 70% 20,150 62%
2% [HRERCHEH) JAL JAL 31,500 41% 15,750 70% 20,150 62%
MY=HALL MR [HECHE) JAL JAL 32,000 41% 16,000 70% 20,500 62%
WL [FECHHE) JAL JAL 32,000 41% 16,000 70% 20,500 62%
Y=L MM [RHRECHH) JAL JAL 36,800 37% 18,400 69% 23,550 60%
e R (CHH) JAL JAL 36,800 37% 18,400 69% 23,550 60%
M=K MMAFE R CHH) JAL JAL 35,700 38% 17,850 69% 22,850 60%
A% [FECHH) JAL JAL 35,700 38% 17,850 69% 22,850 60%
IMY=RIE IR E S-ACEL:)) JAL JAL 39,000 36% 19,500 68% 24,950 59%
K% [HECHH) JAL JAL 39,000 36% 19,500 68% 24,950 59%




MERIsEHERS EEXR(6A1B~308EES) JAL/JTA/JAG/RAC

et LelES ] INRARRIRMEIS| SIREMNLERRIRBEIE]
XFH #ad | BHBO A= BEE BEH BE
e 6/1-30 2 @mE | en-30 | BEXY | fmE 6130 BEM ) gux
REO® | KEQ | XREG EEIES EEES EEIES
INY=RER MMAFE [RHECHH) JAL JAL 36,800 37% 18,400 69% 23,550 60%
BEA% [HECHH) JAL JAL 36,800 37% 18,400 69% 23,550 60%
INR=FIF MMAFE [HECHH) JAL JAL 36,800 37% 18,400 69% 23,550 60%
=% [RRECRA) JAL JAL 36,800 37% 18,400 69% 23,550 60%
IMA=ERE AR [FECHE) JAL JAL 39,000 36% 19,500 68% 24,950 59%
EREH [HECHH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
IMA=TEXES NAFE  [EE(CHHE) JAL JAL 46,400 32% 23,200 66% 29,700 56%
EBEAEH |RE(HH) JAL JAL 46,400 32% 23,200 66% 29,700 56%
IMA=FTH NS [ (RER) JTA [JTA/RAC 55,500 5% 27,750 52% 35,500 39%
EaHE [FEGR JTA/RAC| JTA 55,500 5% 27,750 52% 35,500 39%
IMNR=F1E AMNFE B (BRER) JTA JTA 59,300 7% 29,650 54% 37,950 41%
AiEHE [HEGER JTA JTA 59,300 7% 29,650 54% 37,950 41%
==& EE €T JTA [JTA/RAC 43,000 17% 21,500 58% 27,500 47%
EH% [EGH) JTA/RAC|  JTA 43,000 17% 21,500 58% 27,500 47%
[EITEE=E] ENE I ET 16 ) JTA JTA 48,400 15% 24,200 58% 31,000 46%
AEHE [HEER JTA JTA 48,400 15% 24,200 58% 31,000 46%
EH == =l (] JAL/JAC| JAC 27,700 36% 13,850 68% 17,750 59%
=0T 12E JAC [JAL/JAC 27,700 36% 13,850 68% 17,750 59%
BEXE=5H | EEXEH | DkBEH JAC JAC 19,650 27% 9,850 63% 12,550 53%
FXa Sk BER JAC JAC 19,650 27% 9,850 63% 12,550 53%
BERE=HKRE| EEXEH Ea JAC JAC 16,800 43% 8,400 72% 12,650 57%
Sk BERSE B JAC JAC 16,800 43% 8,400 72% 12,650 57%
BN =F & R4 (BRER) H | 3R CHE) JAL/JTA] JAL 46,500 34% 23,250 67% 29,750 58%
EHA%  [FAECHH) JAL _[JAL/JTA 46,500 34% 23,250 67% 29,750 58%
SPB(INER) ==IR [ h#8 (ARER) % | 3R CHEH) JAL/JTA] JAL 46,500 34% 23,250 67% 29,750 58%
ZR% [HECHH) JAL _[JAL/JTA 46,500 34% 23,250 67% 29,750 58%
SPB(INER) =FAE [h4E (BRER) H | 3R CHEH) JAL/JTA] JAL 45,000 31% 22,500 66% 28,800 56%
AR [FECHH) JAL _[JAL/JTA 45,000 31% 22,500 66% 28,800 56%
SPHB(INER) = LT [ih48 (ARER) % | 3R CHE) JAL/JTA] JAL 45,000 24% 22,500 62% 28,800 51%
W% |[RECRA) JAL _[JAL/JTA 45,000 24% 22,500 62% 28,800 51%
BT =Ile MEGRE |  ERE JTA JAL 45,200 36% 22,600 68% 28,950 59%
=3 128 JAL JTA 45,200 36% 22,600 68% 28,950 59%
SPHB(IRER) =/ SR 48 (ARER) % | 3R CHH) JAL/JTA] JAL 40,900 35% 20,450 67% 26,200 58%
NRRE  [HE CHE) JAL _[JAL/JTA 40,900 35% 20,450 67% 26,200 58%
SRR =nM (TEGRX] & JTA [JAL/JAC 31,500 38% 15,750 69% 20,150 61%
=] & JAL/JAC| JTA 31,500 38% 15,750 69% 20,150 61%
ShEE(RER) =L [(MEGERIX] & JTA JAC 27,900 42% 13,950 71% 17,850 63%
FALLFE 12 JAC JTA 27,900 42% 13,950 71% 17,850 63%
RR(PE) =ZEAB|ZR(ABX| ERE JAL JAC 43,850 29% 21,950 65% 28,100 55%
KR (FFH JAL JAL 43,850 25% 21,950 63% 28,100 52%
EBEXER | ERS JAC JAL 43,850 29% 21,950 65% 28,100 55%
KR (FFH JAL JAL 43,850 25% 21,950 63% 28,100 52%
ER(CAR)=ERB(ER(FAE)%] ERSE JAL JAC 43,950 30% 22,000 65% 28,150 55%
BEAE JAL JAC 43,950 21% 22,000 61% 28,100 50%
EREH ERS JAC JAL 43,950 30% 22,000 65% 28,150 55%
BEAE JAC JAL 43,950 21% 22,000 61% 28,100 50%
ER(CABR) =#zB[ZR(FHE) %] ERS JAL JAC 45,050 31% 22,550 66% 28,850 56%
BEAE JAL JAC 45,900 23% 22,950 61% 29,400 51%
[FFAEES BRE JAC JAL 45,050 31% 22,550 66% 28,850 56%
BEAE JAC JAL 45,900 23% 22,950 61% 29,400 51%
HRE) =k RH|ERCIA)%| ERS JAL JAC 46,950 31% 23,500 66% 30,050 56%
HKRER | ERS JAC JAL 46,950 31% 23,500 66% 30,050 56%
BEAE JAC JAL 46,950 25% 23,500 63% 30,050 52%
i BEKXE [ JAC JAC JAL | 46,950 38% 23,500 69% 30,050 60%
RROPE)=5# AR (PR ERS JAL JAC 47,350 32% 23,700 66% 30,300 57%
5w ERS JAC JAL 47,350 32% 23,700 66% 30,300 57%
BEAE JAC JAL 47,300 28% 23,650 64% 30,250 54%
ShKBER | BEKAE [ JAC JAC JAL | 47,300 35% 23,650 68% 30,250 59%
KR (D) =BEARE[ AR (B E| ERS JAC JAC 38,550 23% 19,300 61% 24,700 51%
BEAEHR | BERE JAC JAC 38,550 23% 19,300 61% 24,700 51%
KB (D =ERE| KR (FHFE| _ERS JAC JAC 39,000 24% 19,500 62% 25,000 51%
BELE JAL JAC 39,000 15% 19,550 57% 24,950 45%
ERER ERS JAC JAC 39,000 24% 19,500 62% 25,000 51%
BEAE JAC JAL 39,000 15% 19,550 57% 24,950 45%
KR (B =EZB|XKR(FM %] ERS JAC JAC 40,100 25% 20,050 63% 25,700 52%
BEAE JAL JAC 41,000 17% 20,500 59% 26,250 47%
[FFAEES BRE JAC JAC 40,100 25% 20,050 63% 25,700 52%
BELE JAC JAL 41,000 17% 20,500 59% 26,250 47%
KR () =hk RE | KBR P | ER JAC JAC 41,650 26% 20,850 63% 26,700 53%
HKBEHE | BERE JAC JAC 41,650 26% 20,850 63% 26,700 53%
KRB =5# [KR(FFH%] ERS JAC JAC 42,050 27% 21,050 64% 26,950 53%
S5 BRS JAC JAC 42,050 27% 21,050 64% 26,950 53%
BE=EXXE B BERE JAC JAC 30,800 26% 15,400 63% 19,700 53%
BEAEHR | BERE JAC JAC 30,800 26% 15,400 63% 19,700 53%
ER=ER5 [EEES ERE JAC JAC 32,250 25% 16,150 62% 20,600 52%
BEAE JAC JAC 32,250 22% 16,150 61% 20,600 50%
ERER ERS JAC JAC 32,250 25% 16,150 62% 20,600 52%
BELE JAC JAC 32,250 22% 16,150 61% 20,600 50%
ER=z5 [EEES ERE JAC JAC 32,350 29% 16,200 64% 20,700 54%
BEAE JAC JAC 32,350 29% 16,200 64% 20,700 54%
[FFAEES ERS JAC JAC 32,350 29% 16,200 64% 20,700 54%
BEAE JAC JAC 32,350 29% 16,200 64% 20,700 54%
BE=4KBE BE BERE JAC JAC 33,900 30% 16,950 65% 21,700 55%
HKBREHHE | BERE JAC JAC 33,900 30% 16,950 65% 21,700 55%
BEAE JAC JAC 33,900 31% 16,950 65% 21,700 56%
i BEKXE [ JAC JAC JAC | 33,900 45% 16,950 73% 21,700 65%
EE=5#H B ERE JAC JAC 34,300 31% 17,150 65% 21,950 56%
EX-t3 BRE JAC JAC 34,300 31% 17,150 65% 21,950 56%
BEAE JAC JAC 34,300 34% 17,150 67% 21,950 58%
HKBRER | BEKX JAC JAC JAC 34,300 42% 17,150 71% 21,950 63%




ISE#BG7 EEXR(6H18~308EES)

EEMEBE . 2012/3/30  ~
A SF s
=0 ga® | BEEE | g MRS W
REO® | R =
HR(CRE) =85 [EZCHA) F[H4# GB3) [JAL/JTA[JTA/RAC| 36,000 38%
=E5 | b (I8%) [UTA/RAC|JAL/JTA| 36,000 38%
R (CRE) =R [ERCHA) FE[H# G5 [JAL/JTA] JTA 36,300 43%
RiEE  [HE@E)| JTA [JAL/JTA[ 36,300 43%
KR (B FH) =% 31| KB (FFFH 3[R CRE) | JAL JAL 34,800 45%
ARFFR)|  JAL JAL 34,800 44%
ZiGRR [RERCEE)| JAL JAL 34,800 45%
AREFR)|  JAL JAL 34,800 44%
K (BTE) =% 31 | KB (BS7E) 3[R CRE) | JAL JAL 34,800 45%
ARFFR)|  JAL JAL 34,800 44%
ZiGRR [RERCEE)| JAL JAL 34,800 45%
ARFFR)|  JAL JAL 34,800 44%
KB () =18)I1 | KBR (R ) %[ BR CRE) | JAL JAL 32,700 47%
JBII%E [ERCHE)| JAL JAL 32,700 47%
KBy (B#E) =JB)II | XBR (BE7E) | BR CHEH) | JAL JAL 32,700 47%
JBIN%E [ERCEE)| JAL JAL 32,700 47%
KB (771 =8iE% | KB (A7) [ BR CREH) | JAL JAL 33,500 45%
flipR% |[RmCRE)| JAL JAL 33,500 45%
KB () =16 | KBR (R FD) %[ RR CHE) | JAL JAL 32,700 46%
HEE |[RRECRE)| JAL JAL 32,700 46%
KB (771 =BafE | KBR (7 [ R CREH) | JAL JAL 32,400 40%
KAEE [WRECHHE)| JAL JAL 32,400 40%
KB () ==5R [ KBR (7D %[ RR CBE) | JAL JAL 30,200 42%
ZR%E |[ERCHE)| JAL JAL 30,200 42%
KBy (B#E) = =R | ABR (BA7E) | BR CHEH) | JAL JAL 30,200 42%
ZR%E |[ERRCHE)| JAL JAL 30,200 42%
KB (FFD) =[R2k [KERUFRFDFE] HE JAC JAC 19,500 38%
EGES 3 JAC JAC 19,500 38%
AR (B =BFS|XREFEMR| BRE JAC JAC 31,000 21%
BEYEX EREE JAC JAC 31,000 21%
KB () ==& [ KBR(RFD R[4 GERE) | JAL [JTA/RAC| 34,400 33%
BE% |58 (8% [UTA/RAC]  JAL 34,400 33%
ABx (BFE) == | ABR (BA7E) 5| 448 GRE) [JAL/JTA[JTA/RAC| 34,400 33%
=E% | b (IB%) [UTA/RAC|JAL/JTA| 34,400 33%
KBR (FFH) =FR1E [KRUFFD FE[ @G| JAL JTA 36,100 37%
AiEE [AE@ER)| JTA JAL 36,100 37%
KBx (B878) =H1E [ KRRk (BF) &[R4 BT [JAL/JTA] JTA 36,100 37%
RiEE [HE@®)| JTA [JAL/JTA[ 36,100 37%
ZHE(PE) =%iBA | BHE (P& F[AMFTFR | JAL JAL 31,900 46%
e R REFR | JAL JAL 31,900 46%
2R (P =Ed 25BN R @ FBH) | JTA [JTA/RAC| 34,200 39%
Ba% |58 (8% [UTA/RAC]  JTA 34,200 39%
2HE (P =hiE[2&E M X FEFH) | JTA JTA 36,200 41%
AiEE [AE@R)| JTA JTA 36,200 41%
ALIR B Fa%) =/MA[AR TR R /R CRE) | JAL JAL 25,800 53%
MR [RRCEE)| JAL JAL 25,800 53%
IR FTR) =MWL[URFEFH %[ RFRCHE) | JAL JAL 31,300 51%
FELFE [ERCHE)| JAL JAL 31,300 51%
IR TR) =LS[ARFETFR R /FTCAHA)| JAL JAL 32,100 50%
LEE% |[EmCRE)| JAL JAL 32,100 50%
HIREFFR =ILOFH[ AR FFH R RFCHE) | JAL JAL 33,600 51%
WO=FE% [RRCHE)| JAL JAL 33,600 51%
ARG T =HEMARFETR R|[/FTCAHA)| JAL JAL 30,000 54%
HEE [ERCHHE)| JAL JAL 30,000 54%
IR T =ES[ARFTHR[/ACAHA) | JAL JAL 31,200 50%
EEH% |[RRE(CRME)| JAL JAL 31,200 50%
IR TR =mR[AREFETR R /T CRE) | JAL JAL 32,000 49%
=% |[ERCEE)| JAL JAL 32,000 49%
LIRFTR) =M [URFEFH R KR CHE | JAL JAL 33,200 49%
EA%E |[ERCEE)| JAL JAL 33,200 49%
IR FTR) =RU[URFEFH R RRCEE) | JAL JAL 35,000 46%
MMLFE  [ERCEE)| JAL JAL 35,000 46%
ALIR R F %) =Jt M AR B F8) %R CHE) [ JAL JAL 33,600 52%
JEAmR [RRCEE)| JAL JAL 33,600 52%
IR TR =KP AR FHTR R[/FTCAE) | JAL JAL 33,600 51%
AH%E |[ERCEE)| JAL JAL 33,600 51%
IR T =RG[ARFTH R[/FTCAHA) | JAL JAL 35,200 51%
Rig% [HRCEE)| JAL JAL 35,200 51%
ALIR Tk =RAAE FTR R[/FTCRE) | JAL JAL 34,400 51%
A% |[Em(CRE)| JAL JAL 34,400 51%
IR TR) ==E[ARFETR R[/FTCAE) | JAL JAL 35,200 50%
BE%  [RERGHR)] JAL JAL 35,200 50%
AIRFFR) =ERB[URFETFH [ RRCHE) | JAL JAL 39,200 46%
ERER |[RR(CHH)| JAL JAL 39,200 46%
IR FR) =R GBI | ALIR F TR %R CBE) | JAL [JAL/JTA[ 41,000 45%
ABR(BA7E)| JAL |JAL/JTA] 41,000 46%
ZEE(PED| JAL JTA 41,000 46%
12 JAL JTA 41,000 48%
SRR (AER) [ E (BE) [JAL/JTA[ JAL 41,000 45%
ABR (BA7E) [JAL/JTA]  JAL 41,000 46%
12 JTA JAL 41,000 48%
&l =% 3l BE%E [ERCEE)| JAL JAL 39,800 49%
ARFTR|  JAL JAL 39,800 45%
ZiGRR [RERCEE)| JAL JAL 39,800 49%
ARFTR|  JAL JAL 39,800 45%
&k =) EE%E [HRCHE)| JAL JAL 35,700 53%
JBIN%E [ERRCHE)| JAL JAL 35,700 53%
2R =8I % |[RRCRE)| JAL JAL 35,200 53%
SlipE%  |[RmCRE)| JAL JAL 35,200 53%
(RN EE%E  |[RRCRE)| JAL JAL 35,700 52%
HEFE  |[RRCRE)| JAL JAL 35,700 52%
B =K B |[RRCRE)| JAL JAL 39,500 42%
REERE [ CRHA)| JAL JAL 39,500 42%
ER=F% mE% [RZCRE)| JAL JAL 39,400 41%
AIRURFD[ JAL JAL 39,400 33%
EHE |[EE@HE]| JAL JAL 39,400 41%
AIRUFFD[ JAL JAL 39,400 33%

JAL/JTA/JAC/RAC
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A SF s
=0 ma® | BEER | g BEH s
REO® | R =
BE==] EE%E |[ERCHE)| JAL JAL 39,000 41%
RECRE)| JAL JAL 39,000 41%
EE=7E% RERURFD[  JAL JAL 38,600 32%
AIRURFD[ JAL JAL 38,600 32%
1Bk =#A RRCHE) [ JAL JAL 33,900 45%
AIRURFD[ JAL JAL 33,900 38%
RECRE)| JAL JAL 33,900 45%
AIRURFD[ JAL JAL 33,900 38%
&k = L HRECRE)| JAL JAL 29,600 46%
ARURFD[ JAL JAL 29,600 45%
RECRE)| JAL JAL 29,600 46%
ARURFD[ JAL JAL 29,600 45%
EE=%8 RERURFD[  JAL JAL 29,600 42%
— AERUFFD|[  JAL JAL 29,600 42%
13k =/Ma RECHE) [ JAL JAL 29,500 50%
REEHE)| JAL JAL 29,500 50%
EE== R (ME | JTA [JTA/RAC| 31,200 31%
Sh#8 (A8 [UTA/RAC] JTA 31,200 31%
ER=HiE PR (RE) [ JTA JTA 34,900 31%
5 REEGRE) | JTA JTA 34,900 31%
iR =& ZimRIF [HIRGETFR)| JAL JAL 24,400 51%
& ARFTR)|  JAL JAL 24,400 51%
SR HRECRE)| JAL JAL 32,700 48%
RECEE)] JAL JAL 32,700 48%
iA=L HAECRE)| JAL JAL 36,000 49%
REEE)| JAL JAL 36,000 49%
iR =HE REEE)| JAL JAL 34,700 52%
RECEE)|[ JAL JAL 34,700 52%
iR = HAECRE)| JAL JAL 39,600 46%
RECRE)|[ JAL JAL 39,600 46%
B =/ RECHE) [ JAL JAL 32,700 47%
RECEE)| JAL JAL 32,700 47%
TNI=FL HAECRE| JAL JAL 36,000 48%
RECEE)| JAL JAL 36,000 48%
BH=HE RECEE)| JAL JAL 34,700 51%
RECEE)| JAL JAL 34,700 51%
TN =#x1L HFECRE| JAL JAL 39,600 45%
RECEE)| JAL JAL 39,600 45%
g =0 HFECRE| JAL JAL 32,700 46%
RECEE)| JAL JAL 32,700 46%
HIEE =L HFECRE| JAL JAL 36,000 48%
RECEE)| JAL JAL 36,000 48%
flE=H=E RRCRE)| JAL JAL 34,700 51%
RECEE)| JAL JAL 34,700 51%
HlEE =421 RECHAE)| JAL JAL 39,600 44%
RECEE)| JAL JAL 39,600 44%
IR =M HFECRE| JAL JAL 32,700 46%
RECEE)| JAL JAL 32,700 46%
HIL=FWL HFECRE| JAL JAL 36,000 47%
RECEE)| JAL JAL 36,000 47%
HL=HE RECEE)| JAL JAL 34,700 50%
RECEE)| JAL JAL 34,700 50%
HIL=H0 RECHE) [ JAL JAL 39,600 44%
RECEE)| JAL JAL 39,600 44%
AR =M RECHE) [ JAL JAL 26,800 50%
RECEE)| JAL JAL 26,800 50%
EEE=RL HRECRE| JAL JAL 34,900 43%
REEE)| JAL JAL 34,900 43%
HEE=HE REEE)| JAL JAL 33,700 46%
REEE)| JAL JAL 33,700 46%
BEE =1L RECHE) [ JAL JAL 38,400 39%
REEE)| JAL JAL 38,400 39%
BEE=dt M RECHE) [ JAL JAL 32,400 52%
REEE)| JAL JAL 32,400 52%
HE=X% HAECRE| JAL JAL 32,400 52%
RECEE)| JAL JAL 32,400 52%
BiE =R RRCRE)| JAL JAL 33,600 52%
RECEE)| JAL JAL 33,600 52%
BRE=FER RRCRAE)| JAL JAL 33,600 51%
RECEE)| JAL JAL 33,600 51%
BRE =T RRCRAE)| JAL JAL 33,600 51%
RECRE)| JAL JAL 33,600 51%
HE=ERES RRCRAE)| JAL JAL 34,400 51%
RECRE)| JAL JAL 34,400 51%
BEH=I HAECRE| JAL JAL 25,600 51%
RECRE)| JAL JAL 25,600 51%
BEHx=REL RECHE) [ JAL JAL 28,800 52%
RECRE)| JAL JAL 28,800 52%
EH=IL5 RRCRAE)| JAL JAL 29,600 51%
RECRE)|[ JAL JAL 29,600 51%
EH=ILOFE RRCRAE)| JAL JAL 31,200 52%
RECRE)|[ JAL JAL 31,200 52%
EH=-HE RRCRAE)| JAL JAL 28,800 53%
AIRUFRFD[ JAL JAC 28,800 48%
HEEX [EZERCHHE)| JAL JAL 28,800 53%
AIRURFD[  JAC JAL 28,800 48%
EH=05 EHE  |[Em(CRE)| JAL JAL 30,600 49%
EEH% |[RRmCRME)| JAL JAL 30,600 49%
EH=mh EH%  [HRRCRE)| JAL JAL 28,800 52%
=% [ERCEE)| JAL JAL 28,800 52%
EH=2H EH%  |[HRRCRE)| JAL JAL 29,600 52%
BA%E |[ERCHE)| JAL JAL 29,600 52%
BEH=L EHE  |[ERRCRE)| JAL JAL 29,600 52%
WMLFE  [ERCEE)| JAL JAL 29,600 52%
HFH=AAM EHE  [RRCRE)| JAL JAL 31,200 53%
AR [RRCE)| JAL JAL 31,200 53%

JAL/JTA/JAC/RAC
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oo 3
XA Behmd BERH 6/1-30 fhg‘é BE
REO® | R =
EH=KS EHE [EE@HE]| JAL JAL 31,200 53%
ARURFD[ JAL JAL 31,200 44%
AH%E |[ERCHEH)| JAL JAL 31,200 53%
EH=RIK EHE [EE@HE]| JAL JAL 33,600 51%
AIRURFD[ JAL JAL 33,600 46%
EE% |[EECHE| JAL JAL 33,600 51%
EH=EX EHE [EE@HE]| JAL JAL 32,400 51%

ABR(EFD | JAL JAL 32,400 46%
BA%R |[EEGE| JAL JAL 32,400 51%
ABR(EFD | JAL JAL 32,400 46%

EH=EK EHE [EE@HE]| JAL JAL 32,400 51%
JAL JAL 32,400 46%
JAL JAL 32,400 51%
JAL JAL 32,400 46%

EH-EBRES JAL JAL 33,600 51%
JAL JAC 33,600 47%

JAL JAL 33,600 51%

JAC JAL 33,600 47%

ZR=/ JAL JAL 25,600 50%
JAL JAL 25,600 50%

=R=MuW JAL JAL 28,800 52%
JAL JAL 28,800 52%

ZR=L5 JAL JAL 29,600 51%
JAL JAL 29,600 51%

=R=WOFa JAL JAL 31,200 51%
JAL JAL 31,200 51%

ZR=HE JAL JAL 28,800 53%
JAL JAL 28,800 53%

ZR=1E5 JAL JAL 30,100 49%
JAL JAL 30,100 49%

ZR=@h JAL JAL 28,800 51%
JAL JAL 28,800 51%

=R=m& JAL JAL 28,800 53%
JAL JAL 28,800 53%

SR=#L JAL JAL 29,600 52%
JAL JAL 29,600 52%

SR=4RM JAL JAL 31,200 53%
JAL JAL 31,200 53%

=R=X% JAL JAL 31,200 52%
JAL JAL 31,200 52%

ZIR=RI& JAL JAL 33,600 51%
JAL JAL 33,600 51%

ZIR=FEX JAL JAL 32,400 51%
JAL JAL 32,400 51%

ZIR=EI& JAL JAL 32,400 51%
JAL JAL 32,400 51%

ZIR=ERS JAL JAL 33,600 51%

JAL JAL 33,600 51%

BE=/MR

JAL JAL 24,800 47%

FE =L JAL JAL 25,600 53%
JAL JAL 25,600 53%

ME=L5 JAL JAL 27,200 51%
JAL JAL 27,200 51%

#ME=LOF JAL JAL 29,600 50%
JAL JAL 29,600 50%

ME=HE JAL JAL 25,600 54%
JAL JAC 25,600 51%

JAL JAL 25,600 54%

JAC JAL 25,600 51%

MHE=ES JAL JAL 25,600 53%
JAL JAL 25,600 53%

MEA=E0 JAL JAL 27,200 50%
JAL JAL 27,200 50%

ME=" JAL JAL 27,200 51%
JAL JAL 27,200 51%

A =0 JAL JAL 28,800 49%
JAL JAL 28,800 49%

FE =AM JAL JAL 29,600 52%
dEAME [RREH JAL JAL 29,600 52%

MEA=X% MEX [ JAL JAL 29,600 51%
AIRUFFD[ JAL JAL 29,600 43%

AS%E |[ERCEE)| JAL JAL 29,600 51%

MHE=RI& HEE [RZCRE)| JAL JAL 31,200 51%
AIRUFFD[ JAL JAL 31,200 47%

EE% |[EEGHE| JAL JAL 31,200 51%

MHEA=FX TEE [EZCRE)| JAL JAL 31,200 49%
AIRURFD[ JAL JAL 31,200 45%

BA%R |[EEGE| JAL JAL 31,200 49%

AIRURFD[ JAL JAL 31,200 45%

A== HEE [ERZCRE)| JAL JAL 31,200 49%

ABR(EFD | JAL JAL 31,200 45%
=A% [EECGEE)| JAL JAL 31,200 49%
ABR(EFD | JAL JAL 31,200 45%

MHA=ERS HEE [EZCRE)| JAL JAL 32,400 49%

)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)| JAL JAL 24,800 47%
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)

AIRURFD[ JAL JAC 32,400 46%

ERER [RRE(CHH)| JAL JAL 32,400 49%

AIRURFD[  JAC JAL 32,400 46%

IR W% ["RERGIE)| JAL JAL 23,700 41%
MMAFE  |HR(HH JAL JAL 23,700 41%

Wiz =R W%  |ERCHHA JAL JAL 24,800 49%
FELFE |[HRECHH JAL JAL 24,800 49%

IWE=IL5 W%  |[HRCHH JAL JAL 27,100 45%
L% |HR(HH JAL JAL 27,100 45%

Wi =1LAFE W% [EmCHE)| JAL JAL 28,800 45%
WO=F&Hs [RREHE)| JAL JAL 28,800 45%
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A SF s
KR FEEI0) BESH 6/1-30 fhg‘é e
REO® | R =
Iz =HE W% |[EERCHHE)| JAL JAL 27,100 45%
ARURFD[ JAL JAC 27,100 47%
HEEX [EZERCHHE)| JAL JAL 27,100 45%
AIRURFD[  JAC JAL 27,100 47%
I =#5 W% |[ERERCHE)| JAL JAL 25,800 46%
EEH¥ |[RRmCRME)| JAL JAL 25,800 46%
Ik =2 W% |[ERECHE)| JAL JAL 24,800 48%
=% [ERCEE)| JAL JAL 24,800 48%
k=5 W% |[ERECHE)| JAL JAL 25,600 48%
EA%E |[ERCEE)| JAL JAL 25,600 48%
Wifz=#x1l W% |[ERERCHE)| JAL JAL 25,600 49%
WL%E  [ERCHE)| JAL JAL 25,600 49%
iR =LA A% [RECEHE)| JAL JAL 29,600 46%
Wfz=XK%5 W%  |[EECHHE)| JAL JAL 28,800 46%
AIRURFD[ JAL JAL 28,800 44%
Ao%E |[ERCHEH)| JAL JAL 28,800 46%
Ik =RI& W% |[EECHHE)| JAL JAL 31,200 45%
AIRURFD[ JAL JAL 31,200 46%
RE%  |[EERGE| JAL JAL 31,200 45%
AIRURFD[ JAL JAL 31,200 46%
Wi =8EA W% |[EERCHHE)| JAL JAL 29,600 46%
AIRURFD[ JAL JAL 29,600 47%
BA%R |[EEGE| JAL JAL 29,600 46%
AIRURFD[ JAL JAL 29,600 47%
Ik ==1% W% |[EECHHE)| JAL JAL 29,600 46%
AIRURFD[ JAL JAL 29,600 47%
=A% [EECEE)| JAL JAL 29,600 46%
AIRURFD[ JAL JAL 29,600 47%
Wk =ERS W% |[EERCHHE)| JAL JAL 31,200 45%
AIRURFD[ JAL JAC 31,200 47%
BERER [RRE(HH)| JAL JAL 31,200 45%
ARRFD[  JAC JAL 31,200 47%
e=HE e |[KERUEFFD] JAL JAC 25,600 49%
HER | KREEM| JAC JAL 25,600 49%
a=xX% =3 D] JAL JAL 28,800 43%
PN E [ JAL JAL 28,800 43%
e =R TE=%:3 2 JAL JAL 31,200 45%
RIGHE D] JAL JAL 31,200 45%
s =r.K [TE=%:3 D[ JAL JAL 29,600 45%
AR D] JAL JAL 29,600 45%
& ==k [TE=%:3 D[ JAL JAL 31,200 43%
G D] JAL JAL 31,200 43%
meE=ERS [TE=E:3 D[ JAL JAC 31,200 46%
ERER |KREFFD| JAC JAL 31,200 46%
FR=HE FinFk | KRUEFFD] JAL JAC 23,200 52%
HE ARURFD[  JAC JAL 23,200 52%
FR=K Rk D] JAL JAL 27,200 44%
A% D] JAL JAL 27,200 44%
FR=RK Hnk D[ JAL JAL 29,600 46%
RIBGHE : JAL JAL 29,600 46%
FR=EX HnRk D] JAL JAL 28,800 45%
AR D] JAL JAL 28,800 45%
FR=2K Rk D] JAL JAL 28,800 45%
G D] JAL JAL 28,800 45%
FR=ERS Rk D] JAL JAC 29,600 47%
ERER |KR(EFFD| JAC JAL 29,600 47%
MR=FEWL MR [ERCEE)| JAL JAL 24,200 53%
FEWLFE [ERCHE)| JAL JAL 24,200 53%
IMNA=ILE MR [RRCEE)| JAL JAL 24,800 53%
L% |[ERCEE)| JAL JAL 24,800 53%
INMA=ILOFE MAFE  [RRECRE)|  JAL JAL 27,800 51%
WOFEs [RRCHE)| JAL JAL 27,800 51%
INA=HE MR [RERCEE)| JAL JAL 25,200 53%
HEEX [ERCHHE)| JAL JAL 25,200 53%
IMNA=TES NNFE [RRECRE)|  JAL JAL 26,400 49%
EEH% |[RR(CRME)| JAL JAL 26,400 49%
INR=TH MR [RRCEE)| JAL JAL 23,700 54%
=% [FERCEE)| JAL JAL 23,700 54%
IMA=FH MR [RRCEE)| JAL JAL 25,200 53%
EA%E |[ERCEE)| JAL JAL 25,200 53%
M= MR [FRCEE)| JAL JAL 25,600 52%
MALFE  [ERCHE)| JAL JAL 25,600 52%
MR =L MMRFE  [FRCEE)| JAL JAL 29,500 50%
dEAm% [RRRCEE)| JAL JAL 29,500 50%
IMNR=K5 MR [RRCEE)| JAL JAL 28,600 50%
5% |RERCHE)| JAL JAL 28,600 50%
M= RIBG MR [RRCEE)| JAL JAL 31,200 49%
Rig% [HERCEE)| JAL JAL 31,200 49%
IMA=FER NNFE [RRECRE)|  JAL JAL 29,500 50%
BEAZE  |[Em(CRE)| JAL JAL 29,500 50%
IMNA=EIR MNFE [RRECRE)|  JAL JAL 29,500 50%
HIBE |[ERECHHE)| JAL JAL 29,500 50%
IMA=ERE MRFE  [RRCEE)| JAL JAL 31,200 49%
ERER |[RR(CHH)| JAL JAL 31,200 49%
MI=EEH A% [FE@BE)| JTA [JTA/RAC] 36,000 38%
=a% |8 (B%) |[JTA/RAC]  JTA 36,000 38%
MR=F1E MR [HEGERR) | JTA JTA 36,300 43%
AiEE  [AE@R)| JTA JTA 36,300 43%
== FELZE [H#R%H) | JTA [JTA/RAC| 34400 33%
=h% | P85 [UTA/RAC]  JTA 34,400 33%
EIL="1E FELLZE  [REGRE|  JTA JTA 37,000 35%
AiEE [AEE@R)| JTA JTA 37,000 35%
BH==I& = & |JAL/JAC| JAC 26,300 39%
G el JAC _[JAL/JAC| 26,300 39%
BEXE=5# | EEZAB% | #kRE | JAC JAC 18,700 30%
5% SRKBER | JAC JAC 18,700 30%

JAL/JTA/JAC/RAC
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BN 3 s
=0 ma® | BEER | g BEH s
REOD | R =
BERE=TKRE| EXXEHE 5% JAC JAC 16,000 46%
Bk RENFE 5 JAC JAC 16,000 46%
BB =FH MEGRS) | RR (BH) [JAL/JTA|  JAL 37,200 48%
ELH%E |[ZRHE| JAL [JAL/JTA[ 37,200 48%
B (BB ==0R |4 FCHE) [JAL/JTA]  JAL 37,200 47%
RCHHE)| JAL [JAL/JTA| 37,200 47%
B (B =®A = CHE) [JAL/JTA]  JAL 36,000 45%
) 5 HCAE)| JAL [JAL/JTA] 36,000 45%
SPAB(GIRE) =R |48 GIRER) | R CBRH) [JAL/JTA|  JAL 36,000 39%
W%  |[EmCHEE)| JAL [JAL/JTA[ 36,000 39%
BB =E MEGS) | BE JTA JAL 38,900 45%
=3 & JAL JTA 38,900 45%
SRR (RER) =/ 048 (IRER) | R CRE) [JAL/JTA[  JAL 34,900 44%
M [HEREEE)|] JAL [JAL/JTA] 34,900 44%
MREAB) =mM MEES | BE JTA [JUAL/JAC|] 25200 51%
=HFE 8@ |JAL/JAC| JTA 25,200 51%
SPEBGRE) =tb (MEGRE) |  BERE JTA JAC 24,000 50%
[NIIES FE] JAC JTA 24,000 50%
R (HE) =8ZXE|RR(HE) %] BERE JAL JAC 41,700 33%
AIRURFD[ JAL JAL 41,700 29%
EEREE | BRE JAC JAL 41,700 33%
— KRERUFFD|[  JAL JAL 41,700 29%
ERCHA)=ERB|"R(FE)¥| _ERS JAL JAC 41,800 34%
BEARE | JAL JAC 41,800 25%
ERER ERS JAC JAL 41,800 34%
BEAE | JAC JAL 41,800 25%
RERCHA) =@zB|"R(FE) ¥ _ERS JAL JAC 42,800 35%
BEARE | JAL JAC 43,600 27%
weEH BRE JAC JAL 42,800 35%
BEARE | JAC JAL 43,600 27%
R (HE) =Kk RH|RRCHE %] BERS JAL JAC 44,600 35%
MKREE | BRE JAC JAL 44,600 35%
BEAE | JAC JAL 44,600 29%
RROHA)=5# KECAR)%| BRE JAL JAC 45,000 36%
5% ERE JAC JAL 45,000 36%
BEARE | JAC JAL 44,900 32%
KR (P =E=XB|AR(FDH| BERE JAC JAC 36,000 28%
BEEAEE | BRE JAC JAC 36,000 28%
KR (R =BRB| AR (FFH % _ERS JAC JAC 37,100 27%
BEARE | JAL JAC 37,100 19%
ERER ERS JAC JAC 37,100 27%
BEAE | JAC JAL 37,100 19%
KR (R =@z 8| KR (FFH % _ERS JAC JAC 38,100 29%
BEARE | JAL JAC 39,000 21%
weEH RS JAC JAC 38,100 29%
BEXE | JAC JAL 39,000 21%
KR (7 =k RE| AR (FFD %] BERES JAC JAC 39,600 30%
HKBREE | BRE JAC JAC 39,600 30%
KB () =5 [ KR(BFD%| EBRE JAC JAC 39,900 31%
5% BERS JAC JAC 39,900 31%
EBR=EZXE [EEES BERE JAC JAC 29,300 30%
EEAEE | BRE JAC JAC 29,300 30%
ER=ERE HEES ERS JAC JAC 30,600 29%
BEXE | JAC JAC 30,600 26%
ERER ERS JAC JAC 30,600 29%
BEXRE | JAC JAC 30,600 26%
ER=Ez8 HEES BERE JAC JAC 30,700 32%
BEARE | JAC JAC 30,700 32%
weEH RS JAC JAC 30,700 32%
BEARE | JAC JAC 30,700 32%
B =Kk RE [HEES BERE JAC JAC 32,200 33%
MKREE | BRE JAC JAC 32,200 33%
BEAE | JAC JAC 32,200 34%
ER=55H [EEES BERS JAC JAC 32,600 34%
5% ERS JAC JAC 32,600 34%
TEXE | JAC JAC 32,600 37%

JAL/JTA/JAC/RAC



